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Compositional Devices — Questions

1. True or False: The key difference between sequence and imitation is that a
sequence occurs in the same voice and imitation is between two or more voices.
a) True
b) False

2. True or False: An ostinato only occurs in the bass register.
a) True
b) False
3. True or False: Inversion is a melodic line backwards.
a) True
b) False

4. What compositional devices are used in the following excerpts? HINT: Some
excerpts demonstrate more than one.

a) Shostakovich: String Quartet No.8
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c) Barték: Mikrokosmos No.79
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d) Part: Cantus in memory of Benjamin Britten

Violin |

Violin I

Viola E

Violoncello

Double Bass
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Compositional Devices — Answers

True or False: The key difference between sequence and imitation is that a
sequence occurs in the same voice and imitation is between two or more voices.

b) False
True or False: An ostinato only occurs in the bass register.

a) True

True or False: Inversion is a melodic line backwards.
a) True

What compositional devices are used in the following excerpts? HINT: Some
excerpts demonstrate more than one.

a) Shostakovich: String Quartet No.8

Largo (4 = 63)
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artdk: Mikrokosmos No.79
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a) Part: Cantus in memory of Benjamin Britten
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melodic line has been augmented so that each note value is twice as long in each
new occurrence of the melodic line. (Study the note value of the first note of each
new voice). This is an augmented canon. It's not entirely shown above, but the double
basses’ first note is 32 beats long. How many time slower than the 15 violins is this?



